



St. Louis County, Minnesota

Total:

\$75,200

Date of Report: 5/4/2025 8:26:06 AM

				General De	tails					
Parcel ID:		060-0040-00	175							
			Leç	gal Description	on Details					
Plat Name:		PETERSON	IS BEACH GILBE	ERT						
Sec	tion	1	ownship	F	Range		Lot	Block		
	-		-		-		0014	-		
Description:		Lot 14								
		0111 55 4440		Taxpayer D	etails					
Taxpayer Name	9	GULBRANSON LAWRENCE								
and Address:			R ISLAND DR							
		EVELETH M	IN 55734							
				Owner De	tails					
Owner Name		GULBRANS	ON L ETUX							
			Paya	able 2025 Tax	Summary					
		2025 - N	let Tax	\$2,235.00						
		2025 - S	pecial Assessme	al Assessments \$919.00						
			-							
		2025 -	Total Tax & S	Special Asse	ssments	\$3,15	4.00			
			Currer	nt Tax Due (a	s of 5/3/202	5)				
Due May 15 Due October 15 Total Due								е		
2025 - 1st Half Tax \$1,577.0			00 2025 - 21	2025 - 2nd Half Tax			2025 - 1st Half Tax Due \$1,577			
2025 - 1st Ha	If Toy Doid			nd Half Tax Paid						
2025 - 18t na	II Tax Palu	\$0.0	2025 - 21	по пан тах Раю		\$0.00   202	2025 - 2nd Half Tax Due \$1,577.00			
2025 - 1st Half Penalty \$0.00 2025 - 2nd			nd Half Penalty		\$0.00 De	linquent Tax	\$1,176.08			
	· · ·	<b>^4</b>	_							
2025 - 1st Ha	iif Due	\$1,577.0	2025 - 21	nd Half Due	\$1,5	77.00 202	25 - Total Due	\$4,330.08		
			Delinqu	uent Taxes (a	s of 5/3/202	5)				
Tax Year			Net Tax	Penal		Cst/Fees	Interest	Total Due		
2024			\$1,045.00	\$73.1		\$20.00	\$37.93	\$1,176.08		
		Total:	\$1,045.00	\$73.1		\$20.00	\$37.93	\$1,176.08		
		4704 0504	2 101 4415 55 51	Parcel Det	ails					
Property Address: 4784 CEDAR ISLAND DR, EVELETH MN										
School District Tax Increment		2909								
Property/Home		-								
. Toperty/Home	Julianoi.		Assessme	nt Details (20	25 Pavable	2026)				
Class Code Homestead			Land	Bldg	Total	Def Land		Net Tax		
(Legend)	Sta 0 - Non Home		<b>EMV</b>	<b>EMV</b>	EMV	VMA	EMV	Capacity		
204	o - Non nome	ิ จเ <del>ป</del> ลน	\$75,200	\$56,000	\$131,200	\$0	\$0	-		

1312

\$56,000

\$131,200

\$0

\$0





St. Louis County, Minnesota

Date of Report: 5/4/2025 8:26:06 AM

**Land Details** 

Deeded Acres: 0.00 Waterfront: ELY Water Front Feet: 68.00 P - PUBLIC Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

_ot Depth:	0.00									
The dimensions shown are n	ot guaranteed to be s	urvey quality. A	Additional lot	information can be	e found at					
https://apps.stlouiscountymn	.gov/webPlatsIframe/t				ions, please email PropertyT	ax@stlouiscountymn.gov.				
		•		etails (HOUSE	•					
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
HOUSE	1910	76	-	1,236	U Quality / 0 Ft <sup>2</sup> 1S+ - 1+ STORY					
Segment	Story	Width	Length	Area	Foundation					
BAS	1	6	24	144	FOUNDAT	ΓΙΟΝ				
BAS	1.7	24	26	624	BASEME	ENT				
DK	1	6	8	48	POST ON GE	ROUND				
DK	1	10	24	240	POST ON GR	ROUND				
OP	1	6	24	144	POST ON GE	ROUND				
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC				
1.25 BATHS	3 BEDROOM	MS	-		-	CENTRAL, FUEL OIL				
	Improvement 2 Details (SAUNA+ST)									
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
SAUNA	1922	96	3	96	-	-				
Segment	Story	Width	Length	Area	Foundation					
BAS	BAS 1		12	96	96 FLOATING SLA					
		Improveme	nt 3 Detai	Is (DET GARA	AGE)					
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
GARAGE	0	40	0	400	-	DETACHED				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	20	20	400	FLOATING SLAB					
		Improvem	ent 4 Deta	ils (SCREEN	HS)					
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
SCREEN HOUSE	0	16	8	168	-	• •				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	12	14	168	FLOATING	SLAB				
	Improvement 5 Details (LOG DG/ST)									
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.										
STORAGE BUILDING	0	32	0	320	- -	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	16	20	320	POST ON GROUND					
LT	1	8	8	64	POST ON GR	ROUND				





St. Louis County, Minnesota

Date of Report: 5/4/2025 8:26:06 AM

Improvement Typ		•		Is (FABRIC CP				
	e Year Built	Main Fl	oor Ft <sup>2</sup> G	Fross Area Ft <sup>2</sup>	•	Style C	ode & Desc.	
CAR PORT 0		24		240	-	•	-	
Segment Story		/ Width	Length	Area	Found	Foundation		
BAS	1	12	20	240	POST ON	POST ON GROUND		
		Improv	ement 7 De	etails (12X20)				
Improvement Type Year Bui		-		Gross Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc.	
STORAGE BUILDING 0 240 240							-	
Segme	nt Story	/ Width	Length	Area	Found	Foundation		
BAS	1	12	12 20		POST ON	GROUND		
		Impro	vement 8 I	Details (NV)				
Improvement Typ	e Year Built	-		Gross Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc.	
LEAN TO	0	2	4	24	-	-	-	
Segme	nt Story	/ Width	Length	Area	Found	dation	n	
BAS	1	3			POST ON	GROUND	OUND	
		Improv	ement 9 De	etails (12X12)				
Improvement Typ	e Year Built	Main Fl	oor Ft <sup>2</sup> G	Gross Area Ft <sup>2</sup>	Basement Finish	Style C	Style Code & Desc.	
LEAN TO	0	14	4	144	-		-	
Segme	nt Story	/ Width	Length	Area	Found	Foundation		
BAS		12	12	144	POST ON	POST ON GROUND		
		Improve	ement 10 D	etails (10X10)				
Improvement Typ	e Year Built	Main Fl	oor Ft <sup>2</sup> G	Gross Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc.	
STORAGE BUILDIN	NG 0	10	00	100	-		-	
Segme	nt Story	/ Width	Length Area		Found	dation		
BAS	1	10	10 10 100		POST ON GROUND			
	;	Sales Reported	to the St. I	Louis County A	Auditor			
No Sales informa	tion reported.							
		А	ssessment	History				
	Class				Def	Def		
Year	Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV			Bldg EMV	Net Tax Capacity	
	204	\$63,900	\$51,50			\$0	-	
2024 Payable 2025	Total	\$63,900	\$51,50			\$0	1,154.00	
	201	\$63,900	\$51,50			\$0	-	
2023 Payable 2024	Total	\$63,900	\$51,50			\$0	885.00	
	201	\$39,700	\$55,10	00 \$94,	800 \$0	\$0	-	
2022 Payable 2023	Total	\$39,700	\$55,10			\$0	661.00	
		005.400	<b>\$55.4</b>	00 000	500 \$0	\$0	_	
	201	\$35,400	\$55,10	00 \$90,	300   30	⊅∪		





St. Louis County, Minnesota

Date of Report: 5/4/2025 8:26:06 AM

	Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$1,256.00	\$834.00	\$2,090.00	\$49,030	\$39,516	\$88,546				
2023	\$1,112.00	\$834.00	\$1,946.00	\$27,678	\$38,414	\$66,092				
2022	\$966.00	\$834.00	\$1,800.00	\$24,019	\$37,386	\$61,405				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.